ALL INDIA TRADE TEST - 2024 FOR CRAFSTMEN

TRAINING SCHEME (CTYS)
Trade Name: Machinist
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks : 150

QID Question Body and Alternatives

Trade Theory
1 What is the feature checked by Try square?
TS WHTIR IR ST T 71T =R R 82

,Al Straightness

RICIEE]
.A2 Flatness
HHAT
A3
~7 Squareness

ufepTRdT

A4 Parallelism

FHMIR

Trade Theory

2 2 What is the angle between two machined surface on angle plate?

T i W 31 i g a1 fobd1 SIu gl 82

.Al 120°
120°
AAz 90°
90°
4AS 45°
45°
4A4 60°
60°

Trade Theory
3 3 What is the name of accessory?

IO BT ATH 182

Marks

2.0

2.0

2.0

Negative
Marks

0.00

0.00




{M Surface Plate

WhHY Tie
:A2 Angle Plate
e whe
:A3 Marking Plate
HIfHT we
:A4 Parallel Block
aa wre

What is the material used made of surface plate?

WHY Qe B T H 5T Trrh &1 JugiT foar S g2
él Good quality cast iron
3T UGl HRE Al

.AZ High carbon steel

I FE KA
:AS High speed steel

GERS SRS
A% Mild steel

A3 Wil

What is the name of the accessory?

IUHTE BT A T 82

ANY1NH 198

{\l V-block
CiAica

:AZ Parallel block
THAIR ilh

:A3 Slotted type angle plate
Hileg <3y Wl we

:A4 Marking plate

HIfHT we

What is the name of the accessory?

I T ATH 1 22

Trade Theory

Trade Theory

Trade Theory

2.0

2.0




él V-block

G

‘AZ Parallel block

AR SATh

,A3 Try square

TS WRR
.A4 Surface plate

WhHY we

Trade Theory
7 7 What is purpose V-block?

dl.sdiieh BT I RTR?

{U Hold round jobs

RRSACIERSCEEANIY
.A2 Hold irregular jobs

Sffafia s 31 & fag

,A3 Hold unsymmetrical jobs

ST Sild 3EH & frg

4A4 Hold rectangular jobs

IIATHR S BIeS DR & fog

Trade Theory
8 8 What is the least count of vernier height gauge?

IR gT5e T B SeTH D T 82

{M 0.001 mm

0.001 mm
:A2 0.002 mm
0.002 mm
A3 0,005 mm

0:005 mm
,A4 0.02 mm

0.02 mm
Trade Theory
9 9 What is the part shown as X in the figure?

3T 7 @y MU gree AW A X & T A g um s am @ ge

2.0

2.0

0.00




1 B 272520 30

B gy

B 1415 16

[FF R
1 23 4

0

{\1 Main scale

g1 T
{\2 Vernier scale

iR YT

{%3 Beam

Eie
A% Main slide

ReC2RNIES)

Trade Theory A ) |

How we specify a vernier height gauge?

B9 U IR 815 I ) RiEy A 82

Al Width of beam

ElEEd kI SiE
A

i 2 Height of beam

dH B S

{B Thickness of beam

7 B e

.A4 Size of base

STYR BT PR

What is the name,of the,angle marked X?

fifga x orETaH @ e?

él Helix angle
HRESEN]

{\2 Point angle
dige B0

{%3 Chisel angle

( 2.0
A

O
~

N\

Trade Theory
2.0

0.00




EpiEakaul
A4 Lip clearance angle
fo weffag o7
Trade Theory
What is the formula to find out RPM of drill?

1 T RPM TaT I &1 01 BIHer 82
Al

dx 1000
Vot
A2

T x 1000
Vxd
A3

V x 1000
md
A4

md
Vx 1000
Trade Theory

How many numbers are in metric tap set?

e 20 e § b AR AR B

ALy
1
A2,
2

A3

3

Ady

4

Trade Theory

Which device is used as datum while marking with vernier height gauge?

IR B8 T & iy, B 9Ha g fearsg o) S1er & =u # SuanT fear S g

,Al Face plate

B

{\2 Surface plate

WhY we
:A3 Angle plate

Ufiret wie
é4 Driving plate

i wie

Trade Theory
Why the tap drill size to be calculated?

U S SR &} UM Y Bt wme?

! To avoid drill breaking

R 3T @ 5 & forg

A2 . .
-~ To avoid material wastage

2.0

2.0

2.0

2.0




Wi 3uemT § 921 & forg

{B To calculate sufficient cutting speed

Pl B Uaid T Pt 0T R P g

.A4 To maintain sufficient material to tap

20 % e yafe gl ST T@A & g

Trade Theory
What is denoted by “V”’ in the formula

@A v gRI R T Y
- dn
1000

,Al Feed in m / rev

EIVECE R

:A2 Feed in mm / rev
[EEIVECE:RICE

é?’ Cutting speed in m / min
H/ fire # e i

é4 Cutting speed in mm / min

foeft/ e A o i
Trade Theory

What is the distance a drill advances in one rotation while drilling?

3T va Trg U gHe # U fd sm gl 22

Al Feed

LS

{\2 Depth of cut

EGHRIE
é?’ Cutting speed
ELERIG]
:A4 Cutting length

RIS

Trade Theory

What is the name (:f paI; mar_ked X?
T X BT TR

Al Column

Hiay
{%2 Spindle
isd

.A3 Over head shaft

2.0

2.0

2.0




20

21

20

21

IR TS MFe

A4 Table elevating clamp

ey Qferafen wety

What is the name of the operation?

SO T 19 T 82

él Reaming
Jfe

:A2 Spot facing
wre BRA

:A3 Counter boring
BRI dIfT

fx4 Counter sinking

FHraex RifdT

What is the name of the part X?
HIT X &1 19 37 82

x

| A m\é‘ §
él Base

STYR

52 Column

1)

PITH

53 Radial arm,

fsgat st

A4 Spindle head

feisags
What is the purpose of ‘depth stop’ in a drilling machine?
fefe w2 & Sw ey 1 Sexa A 32
AL 1o drill big holes
CEETARSEREEARIY
52 To flush out chips
fored S8R T A & for

A3

.~ To measure hole depth

¥ B TERTS AU & o

Trade Theory

Trade Theory

Trade Theory

2.0

2.0

2.0

0.00

0.00




22

23

24

25

22

23

24

25

A4 To control the down ward movement of drill spindle

oo Risd & S8 a18 7fd &) Mafid & & i
Trade Theory

What is the purpose of counter sinks with pilot? 2.0
UTgeie & 91 PR Rich BT IR FT 72

:Al For rough works
e Bl & fog
2 Light duty works
g SIS BIH PR &
A

: 3 Medium size holes

Al

HHH 3THR P B¢

.A4 To align with drilled hole

et fru o g F Oy RT3 F R i

Trade Theory

Calculate the cutting speed used for drilling a 20 mm dia meter hole in a mild steel work piece with a rpm of 3992 A 2.0

399 %N%muwsﬁ@a%m%gﬁﬁ 20 foredt ey Hitex g f3fei & foe SuaeT ot sRaret s d- i &t
O B2

,Al 20 m / min

20 m / min

52 25 m/min

25 m/min

A

3 30 m / min

30 m / min

.A4 35 m/ min

35 m/ min

~ © Trade Theory

Calculate the rpm for drilling a hole of diameter"l6 mm on cast iron with a cutting speed 30 m / minute? 2.0

T Tl T 30 Hex / e & T1 Sy AlehiR &y HieR 16 et & & 1 f3fei 3 fere smrdien & omn 3

,Al 497 rpm

497 rpm
:A2 597 rpm
597 rpm
:A3 697 rpm
697 tpm
:A4 797 rpm
797 rpm

Trade Theory
Which way the coolant flows through the cutting edge in a drill? 2.0

50 & fe ot & Hremm § Hieeies o ave & a5 82

,Al Web

GEl

.AZ Land

ds
{%3 Body
sret

54 Flutes

0.00

0.00




Trade Theory
What is the use of threading dies? 2.0

ST S BT I R ]2

! To cut external thread

8 S I Pied & faw

A2 To cut internal thread

ST IS B Bl & forg
A?’ To finish whole size

T TSR A= a3 & fog

‘A4 To produce whole

gt IdTe e & ferg
Trade Theory

What is the operation shown figure?

SR fegma T st et T 82

AI Drilling

S

{\2 Reaming
JfeT

:A3 Spot facing
e BRI

é4 Counter sinking
BrIeR Rife

Trade Theory

What is the term in BIS limits'fits todmention the size with dimensional durations? 2.0

Srersey faftre § o1 ec SMTHT 3afdl & WY PR HT Ieokd A & T fbe Jod1 32

A

! Size
HIPIR,
‘A2 Basic size

HA 3HTPR

‘A3 Actual size

TRAfH HHR
A4

. Maximum size

eI MHR

Trade Theory

What is the formula for finding maximum limit size in BIS system? 20

ATy vl 7 3ifiimdn fifte MR Tiem &1 g A e?

Al

. Maximum limit = Basic size + Upper deviation

SHfAFHaH fAffie = Td MR + S faga
A2

7 Maximum limit = Basic size + Lower deviation




30

31

32

33

30

31

32

33

3fFman faftie = 4a eR + = faaem

{B Maximum limit = Upper deviation — Basic size

3fIHan faftie = HUR faaa - Jof STHR

A4 . - L L
. Maximum limit = Lower deviation — Basic size

SfHan faftie = 1 faga - 99 oTeR
Trade Theory
Which type of fit is obtain of the hole is bigger than the shaft?

D¢ 5T UPR &1 fhe & S e A 5182

AL Tight fit

Trge e
{\2 Transition fit
giforR fioe
3
Clearance fit

FAG b

A

{%4 Interference fit

TG fihe
Trade Theory

What is mass production?

2 09M W I | e?

! Producing work in pairs

Sfeal # S BT

.A2 Producing a work in single piece
THd e | Th HIH &I FHi0

,A3 Producing an work in large numbers
TS TS H Th BT BT IATGT

A4 . P

~ " Producing an work in limited numbers

ity T & BT &1 IATeT HRAT

Trade Theory

Which system of limits and fitsare followed in our country?

AR 321 H forftrey iR fhey Y foow vumedt &1 e febar wman 82

BIS system

BIS WUl

DIN system:
DIN, JOTTedt
BSS system
BSS JUTTit
FPS system

FPS YUt

f&l
A2
A3
:A4

Trade Theory

Which term used to indicate external dimension of a component in BIS system of limits & fits?

2.0

fRiftre 3R fibe & NETy Rieen § T Serdhs F I8 3T &1 3 B3 & e 5y 2sg &1 ST e S 82

{M Hole

B
A2 Ghafi

MU

2.0

2.0

2.0

0.00




{B Deviation
[EERE]

{%4 Tolerance

HgTRiterar

Trade Theory

How many grades of tolerances are represented in BIS system?

HAETH YuIel § AR % b IS 1 Ul favar Siar g2

25
Trade Theory

Which fundamental deviation symbol indicate ‘Hole basis’ system?

P I Aifeies e Udie g 3MUR "Yurel &) a2iiar 82

Al

h
S
H
A3
. p
p
A4 .
L)

j
Trade Theory

What is an advantage of mass production?

T3 THM TR IS &1 T BHSl &1 87

:Al Production rate is increased.
ITEH R G Wil &

:A2 Measuring time i§ increased
HIOA HT A T STl §

A?’ Jigs and fixtures are needed

R 3R fraeR 1 sexd &

{%4 Special purpose machines are needed

R e FRf @t SRR ©
Trade Theory

What is a vernier caliper?

R IR F T2

:A] Angular measuring instrument
iy AU T

{\2 Indirect measuring instrument
Y WU T

A3 . -
.~ Precision measuring instrument

TR AT b1 T3




38

39

40

41

38

39

40

41

{%4 Telescopic measuring instrument

TR HIGA BT IGHRT

Trade Theory

Which is an integrated part of beam of a vernier caliper?

IR FHRIR & §9 &1 1w THied R HA AR

Al Bixed jaw
RR Ser

52 Depth bar

TERTS SR

{B Thumb lever

Ui AR

{%4 Vernier slide

IR WS

Workshop Calculation and Science

Which metal contains iron as a major content?

0 by urq & v e & Su A AT dlarge

Al Brass metal

et erg
{\2 Bronze metal
S g
:A3 Zinc
S
fx4 Ferrous metal

e oTg

n Wgrkshop Calculation and Science

Which property of metal has its power of returning tosits ‘original shape after the applied force is released?

&Tq 1 B AT IU1 6 A TR Fae T TUT S Sl O 1™ 310+ GaiaeT & S 1 ST 3@l 82

{M Malleability

fraraae-igar
.AZ Tenacity
Tedl
:A3 Elasticity:
TARIUT
:A4 Plasticity

oI

Workshop Calculation and Science

What is termed as the quantity of matter contained in a body?

g & AR v & 7 % 9 w5t ST 82
! Density
EEC
A2 Volume
SeE}
A3

-~ Mass

SqH

.A4 Specific gravity

2.0

2.0

2.0

0.00

0.00




42

43

44

45

42

43

44

45

fafke Toa

Workshop Calculation and Science

What is called mass per unit volume of a substances?

ot uerf & gouH ufd sTE 3 &l T PEd B2

Al Mass

SOIHTA

A2 Weight

HR
A?’ Density
YIcd
‘A4 Volume

SId—

Workshop Calculation and Science

What is the ratio of power output to power input?

If 3M3eye 3R ek YC T SFFUTd T BIell 62

AI Work

F

{\2 Energy

X

‘A3 Efficiency

Q&dl

{%4 Acceleration

[CRU|
WorksllogCaRu]Rn and Science

How many watts for 1 horse power in British system?

fafew Rrerr , 1 g1 UTeR & fobe areg gla 82

AI 726 watts

726 watts
Al

2 736 watts

736 watts

{\3 746 watts

746 watts
A

4 756.watts

756 watts

-~ Engineering Drawing

Identify the conventional symbol of material?

et & URUR Udileh P Ugar?

EDNEG1811002

él Lead

2.0 0.00
2270 0.00
2.0 0.00
2.0 0.00




46

47

48

46

47

48

fu Steel
3

:A3 Glass
B

:A4 Porcelain

= firedt

Identify the conventional symbol of material?

IR & URIRS Ul & e

Engineering Drawing

A I A
7 A

EDNG 1811004

él Concrete
wia srdeH
.A2 Steel

T
:A3 Wood
K
:A4 Glass
i
Identify the conventional symbol of material?

IR & URURSD Udlle Bl Ugar?

E_ngipeeﬁng Drawing

EDNG1811005

Al Steel

I
{\2 Wood
eS|
:A3 Glass
B
4 Concrete

3™

What is the trimmed size of A4 sheet?

A4 Tiie 1 for fbar gan SR F a1 g?

{M 841 x 1189

841 x 1189

Engineering Drawing

2.0

2.0

2.0

0.00




A2

A% 594 x 841

594 x 841
A3 510x297

210x 297
A% 148 x210

148 x 210

49 49 Which drawing dimension is correct as per IS standard?
IS A & SIHR $I- TT T 31T el 82
Al
3
B
r
#
&0
A2
-]
&
80

A3

8

&3 &

A4

[

&
-

50 |50 Identify the name of prism?

o 7 e T forew @1 A R

Engineering Drawing

Engineering Drawing

2.0

2.0




EDNGH 812005

! Square prism
IR foreH
:A2 Pentagonal prism
TRy fireH
é?’ Triangular prism

[Ecauiehies)

A4 Hexagonal prism

T forew
Employability Skills

Fill in the blank with correct word. “They good friends” 2.0

Raa & gt weg W “They good friends”

Al .

A2
© 7 am

am

A3
o are

are

Ad
T was

was

Employability Skills

Fill in the blank with present progressi;e fense of the verb. “The train through the tunnel” 2.0

foran % adAr vTforeite siea 1 fRad RIF 4R “The train through the tunnel”

Al passed

passed

A2 . .
.~ is passing
is'passing
53 had passed
had passed
A4 .
~ " was passing
was passing

Employability Skills

Fill in the blank with proper interrogative adjective. are you going? 2.0
S SeRMfea faRwur & Ty fead =M W are you going?
.Al Who
Who
A2 Where

Where




A3

A4

Which

Which

- What

What

Fill in the blank with proper pronoun. “I made this cake

o = o Iy T & 1Y HR 1“1 made this cake

Al

A2

A3

A4

Fill in the blank with proper pronoun. “She made this cake

o = o Iy TdH & 1Y 431 “She made this cake

Al

myself
myself
yourself
yourself
himself
himself
itself

itself

itself

itself

2 myself

A3

myself
herself

herself

4 himself

Fill in the blank with proper reflexive pronoun. “She has hurt

himself

Employability Skills

2

Employability Skills

2

Employability Skills

”»

aa = o Ifud wfaadt wd=m &0 Y 1““She has hurt »

! myself

myself

2 herself

A3

A4

Fill in the blank with suitable adjective for the given sentence “The little girl’s

fau T aTe & e Suge faLivor & 1y e QUM WX “The little girl’s

Al

A2

A3

herself
himself
himself
itself

itself

chubby
chubby
weak

weak

short sighted

short sighted

Employability Skills

eyes revealed her mischief”

eyes revealed her mischief”




A4 twinkling
twinkling
Employability Skills

Fill in the blank with suitable place preposition. “My house is the third floor” 2.0

IO R Gt & A1y e I W | “My house is the third floor”

{M at

at

A2 .

A3

~ 7 on

on

A4 under

under |
Employability Skills

Fill in the correct question word. * is the speaker at the function?” 2.0

T Uy Weq W « is the speaker at the function?”

A

! What
What
:A2 When
When
53 Why
Why

4A4 Who

Who
__:ETnpl_?yaiility Skills

Low level language is also called . 2.0

IECESEEIRY bkal aff g1 ST

1
source code

RIGEaE

52 middle ware

HER

A3 .
.~ machine language

HRI HIST
4
assembly language
S 1T
Employability Skills

Pronunciation refers to . 2.0
JER I Taffd Har g
Al diphthong
Tgad TR
2
consonant
EISE]
3 .
punctuation
foRm g
4 production of sound

g BT Iare




Employability Skills

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”.

el & Fafefad Se & arde areg o fh @ 2rafyd B3| “teacher / school / worked / she / a / as”

Al School worked as a she teacher

School worked as a she teacher

‘AZ She worked as a school teacher
She worked as a school teacher

A3

-~ She teacher worked as a school
She teacher worked as a school

A4

- Worked she as a school teacher

Worked she as a school teacher

Rise and fall of pitch of voice is called

SfTaTS Bt forg T I3 SR R ﬂ?ﬂ?ﬂ%

! vowel

W]
2 intonation
HIAS PT IdR-deld
3
consonant
EIEE
4 L
pronunciation

SR

The word that expresses a sudden and strong feeling is called

I8 e Sl ST 3R HOTSe HIGHT e PRl & 3

! punctuation
e fer

2 interjection
ferafeays

3 . .
conjunction
IS & FY

4 apostrophe

Employability Skills

EmployabilitSkills

ﬁm%

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

T 7 e, afRrese a1 TRerd 8 I SRR BT AR 3 2, o T ST AR

A

! Good morning

Good morning

Al

2 Hello
Hello

53 Hey

Hey

é4 Hi

Hi

Which is a silent letter in the word “ANSWER”?

“ANSWER"” ¥ec H 19 91 b 31&R 87

Employability Skills




67

68

69

70

67

68

69

70

Al
A2
A3
A4

Employability Skills

Which one is a “Do’s” of discussion etiquettes? 2.0

T4 & RITERI # § $H I “Do’s” &2

:Al Loose your temper
S{TT AT @Y

:AZ Listen to others
R BT

53 Talk about irrelevant details

ST faaRuT & IR # &1 B
A4 Use impolite or rude language

3HE TT AT U BT ITGIT B

Employability Skills

Which one is a “Don’t” of discussion etiquette? 2.0

i fRIPER BT “Don’t” 82

.Al Be open minded

¢an RENIRSCE]|
52 Use moderate tone

T TR BT TN HY

A?’ Listen to others

B
A4
. Argue unnecessary

SIS TEH DY
X Employability Skills

Which one i§#brain ofzomputer? 2.0
SR PIARID I 187
Al Keyboard
FraS
CPU

dqidig

A2

{B Monitor
e
4 Hard disk

HESED

A

Employability Skills

Which one is an exclamatory sentence? 2.0

oI a1 fwmaie sy a g2

A

! What a beautiful house it is!




71

72

73

74

71

72

73

74

What a beautiful house it is!

‘AZ It is a beautiful house.

It is a beautiful house.

,A3 Is it a beautiful house?

Is it a beautiful house?

A4 Your house is beautiful.

Your house is beautiful.

Which one is in active voice?

iy 3mare § B 182

A

! Ram has passed the exam.

Ram has passed the exam.

.AZ The ball was caught by him.

The ball was caught by him.
A

i 3 The book was being read by her.
The book was being read by her.

54 We were driven home by dad.

We were driven home by dad.

Which one is in passive voice?

ffepg e A p T

Al Mohan is painting a house.

Mohan is painting a house.

Al

2 She was reading a book.

She was reading a book.

.A3 Her birthday was celebrated by us.

Her birthday was celebrated by us.
.A4 I have seen that movie.

I have seen that movie.

Which one is NOT a conjunction?

B 1 Th TIoH el 82

,Al And

And
52 Or
Or
:A3 But
But
.A4 On

On

Which one is NOT a benefit of the role playing?

AT AU &1 B a1 Ay el 82

,Al Builds confidence

ST VT HRaT &
{%2 Develops listening skill

T BT DI [IB R Hxar 8

Employability Skills

Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00




{\3 Develops creative problem-solving skill

TTATHS TH-GHIY HId eI Bl §
{\4 Develops boredom

FTd I IRaT 8

Employability Skills

75

75

Which one is NOT a vowel?
PH AT TR AL R

Al

. a

A2

A3

A4

2.0

0.00




Machinist - 1st Year - Set 2

S.No. Correct Answer Key S.No. Correct Answer Key
1 A3 39 A4
2 A2 40 A3
3 A2 41 A3
4 A1 42 A3
5 A3 43 A3
6 A1 44 A3
7 A1 45 A2
8 A4 46 A4
9 A1 47 A4
10 A2 48 A3
11 A2 49 Al
12 A3 50 A4
13 A3 51 A3
14 A2 52 A2
15 A4 53 A2
16 A3 54 A1
17 A1 55 A3
18 A1 56 A2
19 A4 o7 4 A4

20 A3 58 A3
21 A4 59 A4
22 A4 60 A3
23 A2 61 A4
24 A2 62 A2
25 A4 63 A2
26 A1 64 A2
27 A2 65 A1
28 A2 66 A4
29 A1 67 A2
30 A3 68 A4
31 A3 69 A2
32 A1 70 A1
33 A2 71 A1
34 A3 72 A3
35 A2 73 A4
36 A1 74 A4
37 A3 75 A3
38 A1

Note:

"In case answers found to be inaccurate due to typographical error or any
other reason please sent mail to gbnimigrievance@gmail.com"
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